

補足 (3) 例 1 及び 例 2

$$F(x, y) = f(x, y, g(x, y))$$

1) 例 1

$$F_x(a, b) = F_y(a, b) = 0$$

∴

$$f_x(a, b, c) \cdot 1 + f_y(a, b, c) \cdot 0 + f_z(a, b, c) g_x(a, b) = 0$$

$$f_x(a, b, c) \cdot 0 + f_y(a, b, c) \cdot 1 + f_z(a, b, c) g_y(a, b) = 0$$

2) 例 2

$$\left( \nabla(f)(P_0), \begin{pmatrix} 1 \\ 0 \\ g_x(a, b) \end{pmatrix} \right) = 0 \quad (1)$$

$$\left( \nabla(f)(P_0), \begin{pmatrix} 0 \\ 1 \\ g_y(a, b) \end{pmatrix} \right) = 0 \quad (2)$$

3) 例 3

$$\left( \nabla(g)(P_0), \begin{pmatrix} 1 \\ 0 \\ g_x(a, b) \end{pmatrix} \right) = 0 \quad (3)$$

$$\left( \nabla(g)(P_0), \begin{pmatrix} 0 \\ 1 \\ g_y(a, b) \end{pmatrix} \right) = 0 \quad (4)$$

4) 例 4

$$N = \mathbb{R} \nabla(g)(P_0) \subset \mathbb{R}^3$$

1) 例 1

$$N^\perp = \{ \lambda \cdot \begin{pmatrix} 1 \\ 0 \\ g_x(a, b) \end{pmatrix} + \mu \cdot \begin{pmatrix} 0 \\ 1 \\ g_y(a, b) \end{pmatrix} \}$$

∴

$$N^\perp = \mathbb{R} \begin{pmatrix} 1 \\ 0 \\ g_x(a, b) \end{pmatrix} + \mathbb{R} \begin{pmatrix} 0 \\ 1 \\ g_y(a, b) \end{pmatrix}$$

2" 23 = 2 0" 2 0" 1) 2 2.

(1), (2) 2 2

$$\nabla(f)(P_0)$$

$$\begin{aligned} \in (N^+)^{\perp} &= N \\ &= \mathbb{R} \nabla(g)(P_0) \end{aligned}$$

$$\text{o.s. } \exists \lambda \in \mathbb{R} \text{ s.t. } \nabla(f) = \lambda \nabla(g)$$

$$\nabla(f)(P_0) = -\lambda \nabla(g)(P_0)$$

2 2 1) 2 2.

